Left-Luggage Short Division




What Is Short Division?

Short division is a formal written method for division.

quotient :
remainder

When it 1s set
out, it looks like a bus
stop, so you might have
heard it called the bus |

stop method.
-

divisor dividend




What Is Short Division?

Short division is a formal written method for division.

quotient :
remainder

When calculating
using short division,
we start at the left
and work towards
the right.

divisor dividend




What Is Short Division?

Short division is a formal written method for division.

quotient

remainder [

from the written methods
for addition, subtraction
and multiplication, where
divisor dividend we work from right
to left.




Bookings

Let’'s work through an example together:

ings have been taken for
/inkl TpaveBcoaghes. If the
gs are between

the three doaches, Aow Inany jobs
will each coach need to do?

Finally, divide 3 by 3.
3 +3 =1, so write 1 above the line.

L=~ AJIE S S — e — e —an — an A S EE T = =




Bookings

Let’'s work through an example together:

693 bookings have been taken for
three Twinkl Travel coaches. If the
bookings are shared equally between
the three coaches, how many jobs
will each coach need to do?




Bookings

Let’'s work through an example together:
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Start at the left and share 6 hundreds into 3 groups.
This makes 2 hundreds in each group. Write the 2
above the line.
— ]
A simpler way you could think of this is:
6 (hundreds) + 3 = 2 (hundreds),
so write 2 above the line.




Bookings

Let’'s work through an example together:

Next, divide 9 (tens) by 3.
9 (tens) + 3 = 3 (tens),
so write 3 above the line.




Bookings

Let’'s work through an example together:

Finally, divide 3 by 3.
3 +3 =1, sowrite 1 above the line.




Regroup

Let’s work through an example of the short written
method where we need to regroup:

up the hundreds, so we write 0 above
the line and regroup, moving the

[l

A simpler way you could think of
this 1s: 3 (hundreds) +~ 4 can’t be done,
so move the 3 (hundreds) into the

tens column.




Regroup

Let’s work through an example of the short written
method where we need to regroup:
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- ThlS can’t be done without breaking
up the hundreds, so we write 0 above
the line and regroup, moving the

[l

A simpler way you could think of
this 1s: 3 (hundreds) +~ 4 can’t be done,
so move the 3 (hundreds) into the

tens column.




Regroup

Let’s work through an example of the short written

method where we need to regroup:
e =,

222

Now, we have 32 tens to share into 4
groups. 32 (tens) ~ 4 = 8§ (tens), so
write 8 above the line.

?
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Regroup

Let’s work through an example of the short written
method where we need to regroup:

Finally, share 8 into 4 groups.




Remainders

What happens if the last digit won’t divide exactly by the divisor?

First, |
Share these 3 hundreds into 4 groups.

This can’t be done without breaking up
the hundreds, so we write 0 above the
line and regroup, moving the 30 tens

across into the tens column.
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A simpler way you could think of this
is: 3 (hundreds) + 4 can’t be done, so
move the 3 (hundreds) into the

tens column.




Remainders

What happens if the last digit won’t divide exactly by the divisor?

Now, we have 32 tens to share into 4
groups. 32 (tens) ~ 4 = 8 (tens), so write
8 above the line




Remainders

What happens if the last digit won’t divide exactly by the divisor?
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Flnally, share 6 into 4 groups. This
makes 1 group of 4 but leaves 2 left
over. Write r (remainder). Ir2.

.
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Cupcake Calculation

Let’s work through an example together:
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6933 cupcakes are shared equally by
three (incredibly greedy) children.
How many cupcakes does each child get?
7Z\"il'S
Start at the left in the thousands
column. Share 6 thousands into 3
groups. This makes 2 thousands in each
group. Write the 2 above the line. :
A simpler way you could think of this is:
6 (thousands) + 3 = 2 (thousands), so
write 2 above the line.




Cupcake Calculation

Let’s work through an example together:
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Next, divide 9 hundreds into 3 groups.
9 (hundreds) + 3 = 3 (hundreds),
so write 3 above the line.

T




Cupcake Calculation
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Let’s work through an example together:

| |

Next, divide 3 tens into 3 groups.
3 (tens) + 3 = 1 (ten),
so write 1 above the line.
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Cupcake Calculation

Let’s work through an example together:
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Finally, divide 3 b
3+-3=1,

The answer is 2311 each
(that’s a lot of cupcakes!).




Regroup

Great work so far!
Now, let’s work through a calculation where we need to regroup:

Starting at the left,
share 3 thousands into
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the 30 Icohdmds across N\
into the hundreds
column.

lem




Regroup G2

Great work so far!

Starting at the left,
share 3 thousands into
4 groups. This can'’t be

done without breaking
up (or regrouping)
the thousands.

So we write 0 above the
line and regroup, movin
the 30 hundreds across
into the hundreds
column.




Regroup G2

Great work so far!

A simpler way you could think
of this is:

3 (thousands)/ 4 can'’t be
done, so move the
3 (thousands) across into the
hundreds column.

Share 32 hundreds into
4 groups.

32 (hundreds)/ 4 =
8 (hundreds), so write
8 above the line.
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2
so write 2 above

the line.
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Share 8 tens into
8 (tens) / 4

(tens)
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4 groups.

4/ 4 =1, so write 1
above the line.
The answer is 821.

Finally, share 4 into




Remainders

What happens if the last digit won’t divide exactly by the divisor?

Let s try changmg the ﬁnal d1g1t to a number that 1snt a multlple of four
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Starting at the left, share 3 thousands
into 4 groups. This can’t be done
without breaking up (or regrouping)
the thousands.
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So we write 0 above the line and

regroup, moving the 30 hundreds
across mto the hundreds column.

; NS I \ [H
A s1mpler way you could think of this
is: 3 (thousands) +~ 4 can’t be done, so
move the 3 (thousands) across into the

hundreds column.
I r W \




Remainders

What happens if the last digit won't divide exactly by the divisor?
Let’s try changing the final digit to a number that isn’t a multiple of four:
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Share 32 hundreds into 4 groups.
32 (hundreds) + 4 =8
(hundreds), so write 8 above the line.
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Remainders

What happens if the last digit won’t divide exactly by the divisor?
Let’s try changing the final digit to a number that isn’t a multiple of four:
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Share 8 tens into 4 groups.
8 (tens) + 4 = 2 (tens), so write 2 above

0 - 8 2t rdeidthe lipe.
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Remainders

What happens if the last digit won’t divide exactly by the divisor?
Let’s try changing the final digit to a number that isn’t a multiple of four:
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3 Finally, share 7 into 4 groups. This
PR makes 1 group of 4, so we write 1

above the line.
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But 3 1s left over because 7 - 4 = 3.
This 1s the remainder. We write 1r3.
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Your Turn

Work in pairs to complete these.

9

4884 / 4 =

3612/ 6 =

7499/ 7 =

Did you both get the
same answer?

Which calculation was
the easiest? Why?

Which was the most
difficult? Why?
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Your Turn

Work in pairs to complete these.

9

4884 / 4 = 1221

3612/ 6 = 602

7499/ 7 =1071r2

Did you both get the
same answer?

Which calculation was
the easiest? Why?

Which was the most
difficult? Why?
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